
PART-III 

6UH,\)ffil�UJ6\) / ZObL.C)GY 

( �u51w LD!I)IDJLO �ffiJffilGU (@JkQI ; Tamil & Englisn Versi6.ns) 
GJBO-LO : 3 �� ] Time Allowed : 3 Hours ] [ GLDrr�� LD�uQU�$61T : 150 [ Maximum Marks : 150 
®uSluy : (1) �6o)@T�� 6151�rra;a;(§LO 5if1wrrffi U�@Jrr$)' �roro�rr Gr6m"LJ�6o)6llTa= rf1 u ff IT�� 8; Q a; [f 6ff 61T6tj LO. � 8=8r u �@S) Q) @56o> !D u5l@u L5l 6bT � 6o) !Da;6mfra; rr � u u rr@rrA L LO �L6llTLq-LU rrs; Q� rfl GlS1 a;a;Q.J LO.(2) �Q)LO �Q)·Q)� 8;IDJ u LJ 6o>LOu5l·6ln6llT LDL.(b)Ci.o Gr(!:9�(@.J�!D®u LU 6m u G\tEJ5 � 6iJ � Cb) LD. u LLD ru � If 6Ll � !!)@5 Q u 6m" ctl Q)

U LU 6bTu(hl\���LO.
Instructions : (1) Check the question paper for fairness of 'Printing. If there is any lack 

®uSluy (i) (ii) 
Note: (i) (ii) 

of fairne�s·, inform the Hal1Bupervisor inurt�d1ately. (2) Use Black or Blueink to write and ·pencil tO·draw diagrams.
LI@)�- I / PART - I 

� 6l06lIT ��J  '@S) 6llTrT 8,$(§$@5 LO 6lS16o) L LU eorr1 . B=rrhurr6lIT 6ti16o>L6o>ll.J G�rr�G�®';�� 6rQg�ffi. Answer all the questions. Choose and Write' the cortec:t a�swers. 
1. �rfl:$LJ L51!I)L.1Lj �ff1T�l.o'�6nl Gr�LIU@QJ§j :( �) �6br8TGl516br ( �) �a;GrolGLrr�6m (@ ) @5 �8,a;a; rr 6bT (Fr-) (@J rrG oo rru L.91 o-oo Gro16ITT Rapid birth hormone is (a) Insulin(c) Glucagon (b) · Oxytocin(d) Vasopressfo

30x1=3O 
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2. rf1air LDrrrrL9--�6nl Gurr� ��a=&.iGTT16D �mm LW���� ��uL.i� :

( �) ffi1�mG&.;rr �GDLlrj-8' GlJDrr�&.iGTT ( �) �LOLGLrr &.;rr6iITT-Lrf1LLJ6D GlJDrr�&.iGTT

(@) �GDGa=rrGa=rrLb GlJDrr�&.im (r-r=) (of<oruLGIJ"a=<oru 
During Rigor Mortis, muscle proteins are destroyed by: 
(a) glycolytic enzymes (b) mitochondrial enzymes
( c); lysosome enzymes ( d) esterases

3. GlLJe5Lburr6nl�LOLLJrr&.i &.;rr6m"uu@Lb &.;��rr� �® G)Jrr� :

(�) N02 (�) CO2 (@) 03
The most abundant green house gas is
(a) N0

2
(b) CO

2
(d) S0

2

4. Ga=rr��6m"ffi ®�rrw ®�JB�� Gla=UJ6D(Y)�!I)u516nl Gurr� ffiC5G)Jrr6m"� (of���6m"
Q a= 6D &.; GIT !fi1 � GD u516D 8:i e5 u � u u516nl � ITT Gt 6nl G L rr Q LO L rf1 w ffi G)J rf1 6D � L@� 6D
Gla=tiJwuu@Lb ?

( � ) 2 Q a=roffim ( �) 8 Q a=6D&.iGTT (@) 16' Q a=ru&.iro (r-r=) 32 Q a=GD&.;ro 
During Test tube baby technique which cell stage embryo is put inside the uterine 
endometrium ? 
(a) 2 cells (b) 8 cells (c) 16 cells

5. ! '@; lf1� �GTT] �G)JL...Lu516nl' (of6nTIDJ ���$8:iLJU@G)J� :

(�) �G)JL...Lu516nl A (�) �G)JL...Lu516nl C 

(@) �G)JL...Lu516nl D (r-r=) �G)JL...Lu516nl E 
Which is called as 'Sunshine Vitamin' ? 
(a) Vitamin A (b) Vitamin C
(c) Vitamin D (d) Vitamin E

(d) 32 cells

6. ®alJ"rrGLDrrGa=rrLb Q�rr®LJ � G)J�l)"U LLD �LLJ rrrf1ffi(§LDGU rr� 8:i@Ga=ro G)JffilTB=fr1 u51ro 
LD�!I)(Y)ffi Ga=6DU(§LJ�6lffGurr� JD@J:516IDGD 8:iL...L��Q) !51w�� �G)JLJLJ�.'

( �) @6nlLrrGlul)"rr6nl ( �) 8:irrGUffil�6bT

(@) (of6b1GLrr !fi1�a;GTTlUJ<oru ( r-r=) L9--l)"rr6blwffilrf1 uGL<oru
During Karyotyping technique, substance that stops mitosis at metaphase in foetal
cells is
(a) interferon (b) colchicine
( c) endonuclease ( d) transcri ptase
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7. � Go) 6ITT �� a; rr ri-L.J � a; ml W LO ffiG:io) (o)J u51 (§JB � a; rrrr u LO GITT.

( �) •8:iLQJrr 8:iLQJrr ( �) GQJL.S1GUJrr Gr,rmE1LLrr

(@) MrrG:io)r,r6ITTrr uSlrra;rrQJrr (r-r-) _ Go)5L.Jlr6ITTeoiu a;rrrruL.S1GUJrr 
The tastiest carp fish of all carps is 
(a) Catla Catla
( c) Cirrhina mrigala

(b) Labeo rohita
(d) Ciprinus Carpio

8. �6oOTQ.J �LG8:irrGITrorr� 5LDUJ��GD @r,r����GD (§�ffiG8:irr.!flGITT �GTTQ.J :

(�) 70 (Y)�GD 110 u51.£1/GL.GU1L (�) 80 (Y)�GD 200 u51.£1/GL.GU1L 

(@) 100 (Y)�GD 150 u51.£1/GL.GU1L (r-r-) 200 (Y)�GD 250 u51.£1/GL.GU1L 
The normal blood glucose level during fasting is: 
(a) 70 to 110 mg/ dl (b) 80 to 200 mg/ dl
( c) 100 to 150 mg/ dl ( d) 200 to 250 mg/ dl

9. (Y) Go) rou5l GITT u51 �G6ITTrrLL � Go) QJ Q.J 8:i Go) ro u � Q.J Q 5W � LO 8:iQ!) 6b1 :

(�) r-r-  .!fl.�. (�) �(§.!flGUJrr£lr,rrrLO 

(@) r-r=.r-r=.�. (r-r-) �(§.!flGUJrrL.S1rorreoiuLtq-
The device to record electrical activity of the brain is 
(a) E.C.G. (b) Angiogram
(c) E.E.G. (d) Angioplasty

1 O. ' <or111 � 6ITTGD 8:i 111 ' <or� GITT � Go) LD u Go) u @S1 ro ffi(§ LD LD rr � 111 ? 

( �) tq- <orGITT.GJ. ( �) �rr.<orGITT.GJ. (@) �r,r�LO 
'Glowing coal' model defines the structure of : 
(a) DNA (b) RNA (c) Protein

11. � 00 L u5) Go) 6nT ffi r,f U U � :

( �) LDIT"OOL G56D8:iGIT 

(r-r-) �GITT 

(d) Gene

( �) <orL.S1�iGUlwa= Q5GDa;GIT

(@) @r,r�� .!fl(o)Ju� G5GD8:iGIT
Histamine is secreted by :

( r-r-) @r,r �� Q (o)J GIT Go) GTTUJ Wl $8:i GIT 

(a) Epithelial cells
( c) Red blood cells

(b) Mast cells
( d) White blood cells
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12. HIV-6b-r RNA mG001T�LD DNA-ru1TcE LDIT.(D.Q)Jru�: ·

( �) DNA �Q)c9,GcEoo . ( �)-Gl1JOOL..rf1<9,�Gm" GTGm"GLIT J:51�c9,GiflGwoo 

(@) rf1rurroo Lq-lJITGm"OOc£1rf1uGLoo (r-r-) DNA LJ1T661QwGi:roo 

Which converts RNA genome into DNA,in HIV? 
( a) DNA ligase (b ): Restriction endonuclease 
(c) Reverse transcriptase (d) DNA polymerase

13. @��w1TG>S1ro @�Gm" @�6151ro 1973 �LO �oo® 6TT6J@) @113�a=cf1uL51cEGTT (@Jffi[T�� 

@113 � 8, 8; GIT �® ru IT 8,8; u u c__ LOO ?

In India, cultured pearls were produced for �e first time in 1973 at_: 
(a) Mumbai (b) Kolkata (c) Tuticorin (d) Chennai

14. QwQ)Goo1TGLJ1TIT" Ga=rocEG111Q)· m-[D� �uSlG001T �uSlQ)113�661@�� GlLDQ)TlfGUTlGm"
�,(DLJ��LLJITc£1!D� ?

In melanophore cells melanin is produced from which amino acid? 
(a) Valine (b) Arginine (c) Tyrosine (d) Histidine

15. 21 � LO IDJf !D !D IT OOl.q-@51" � !D J5� LD ®�� ru �6<ITT6Lj GT oo � � !:9 8,8; u u (5) ru � ? 

0 
I 

(�) L.0@51" (�) cflu�cEGTT (@) @!DITGD (r-r-) cELGOUrrlfl 

Medicinal food of 21st century is 
(a) Fish (b) Oyster

( �) Q�IT,!D.Q)JG[DITW ey:>L@ru6151 

(@) �oot.q-Gw1T �rr�rf1L�oo 

(c) Prawn (d) Seaweed

( �) @GLDLLq-8, ey:>L@ru6\S1 

(r-r-) GlcEGTTL 

Which disease is caused due to an inborn error of purine metabolism? 

(a) Infective arthritis . (b) Rheumatic arthritis 
( c) Osteo arthritis

1 
,,,. : , (d) Gout
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17. @o-�� �ruUUWJ8'8:i6o)GTT <or�WJLD Gurr§J J]IT8:i@5LD �IJGLD : ·

18. 

(�) G�LLJL.DGn) �IJ@Jl.D (�) L.JT$GTD �IJ"@JLD

( c@ ) L rrw Git) oo 6m � o-ru LD ( r:r-) J5l Gm" JI> rr � o-ru LD 
The dilution fluid used to count RBC is : 
(a) Hayem's sblution
(c) Toisson solution

U Q) @;?J (!5@J Go) LD L.J y ffi@) 6f (5\ �§J $8:i rf L. (b\ 

(�) Go)LLJrfUJ(b\ 

(@) 8:i�IT �rf1rurrm WIJ"��Ga=rr6o)a; 
The example for polymorphism is 
(a) typhoid
( c) sickle cell anaemia

(b) Turk's solution
(d) Lymphatic solution

( �) LD (§Sffi ffilJ"LD 

( r-r-) LD Q) t.q-t51 m ooffi1 GTfl a o-rr � oo 

(b) yellow fever
( d) multiple sclerosis

19. @)(§ffi @JGTTITL.JU8:i��6m" �Go)IJ"GLDQ) �GTTGTT @)l.JQnU U(b\$Qn8.iu516m" �GTTQ.j.

(�) 5 (Y)�6D 7.5 cm (�) 4 (Y)�60 65 cm

(@) 5.5 (Y)�Q) 6 cm ( r-r-) 4.5 (Y)�Q) 5 cm
The litter bed of poultry has the-thickness of:
(a) 5 to 7.5 cm (b) 4 to 6.:5 cm
(c) 5.5 to 6 cm (d) 4.5 to 5 cm

2 0. L516m"ru ® LD @IJ" �� Q ru GTTQnGTTLLJ WI ffi8:iGl11 Q) <or� ru � u u rrrf16m" �6TTGTT §J ? 

( �) GuGa=rr/ot51rua;m ( �) ��Lt.q-G1Jrro°ot51ru8:im 

(@) Q)] L.DGU rrQna=L.(b\8:iffi ( r-r-) r-r-a=G6mrro00tSlruc$GTT  ' 
Which of the following WBCs, _ contains heparin ? 
(a) Basophils (b) Neutrophils _
(c) Lymphocytes (d) Eosinophils

21. @LU !D 6o)8:i u.5l ru �Gm"Glj @ 6t) Q) f � · f.5l 6o)6D u5I ru · GrJ5� gLu51 rf1 �6m" @60l �u51rfl �6mff®J LD 
���LLJrra; LDrrIDJLD ? 

( �) L.SG6ITTLLJGTU c@�t_q-8:iGTU ( �) �Gl)Q)rr GsrrGir�Lr-lT 

(@ ) 8:i L 61) rr 8:i L.61) rr 
ln the absence of the natural food these animals become cannibals 
(a) Penaeus indicus (b) Scylla serrata
(c) Catla Catla ' (cl} Macrobrachium rosen betgii ' -
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I 2 . 8.i@JEfr 8.irni.Ja=a=Go)(ol) G;Jd)u(E)��G}J� :
( � ) LSl ITT rr oo GLD rr L9-JLl LD 6o) G}J G}J rr a; oo ( �) LSl ITTrr oo GLD rr LrJ-W LD LD G (ol) rfl w rr
(@ ) LSl ITT rr oo G LQ rr LrJ-W LD � G G}J (] (ol) ' (f) LSl ITT rr (ofl) GLD rr LrJ-W LD u rr 6D �Gu r,r LD
Black water fever is caused by: 

(a) Plasmodium vivax

(c) Plasmodium ovale

(�) urrLDL.Sla;oo GLDrrrfl
(@ ) � LL rr 8J8.i oo rfl � 66Tl
Silk worm feed with Mulberry leaves 

(a) Bombyx mori

(c) Attacus ricini

(b) Plasmodium malariae

( d) Plasmodium falciparum

( �) �fe�Gr,rwrr 6"6">L.06olL.Lrr
( r-r-) �fe�Gr,rwrr �a=rrLDrr

(b) Antheraea mylita

( d) Antheraea assama

2 4 f fft fr> ff> � 61[) lD u y 61[) L llJ .@v-LQ[) LllJ IT II, <.§IE® .@61[) La llJ /Ji 61[) LG u w LD 2-w u y fft L ®
I 

@@JG}JITIDJ �6o)W8;8.iLlu@ct1w�
' ( �) Q�GGITTrr cfilr,rrruL ( �) �61.)GQ)tr �IJ"ITLIL

(@) �L.GLrr $) r,rrru L
Graft between identical twins is called 

(a) Xenograft

(c) Auto graft

( �) LrJ-6m r,rGw rr ffi8.iGTT
(@) Q U6�1LGL1Tffi8.iGTT

( r-r-) �Oa=rr ct1 r,rrru L

(b) Allograft

(d) Isograft.

( �) QLL.Gr,rrra=ra;GTT
( r-r-) Q�a;Ga=rr8i-a;GTT

', 

The type of sugar, which is the integral component of RNA and DNA : 

(a) trioses

( c) pentoses

(b) tetroses

(d) hexoses

I 
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26. c;;;rl.Sioo @@TLq-83rr Gr6ITTU� :

( �) @Jt� w G�Gb1 (�) �urf1a;a;� G�dr 

(r-r-) urr�JD� G�oo (@) a3Gr,rrrul.Siw G�dr

A pis indica is

(a) Indian bee

(c) European bee
(b) African bee

(d) Rock bee

27. CP@ 2-L83Q5 L.OrrJ:bw(o)J�J]@5 Ul1J6ITTU(b)��LJU(b)LD G(o)J�LJGUrr@GTT :

28. 

( �) DNA �Q)Ga;oo ( �) �aLGLrrQa;Q)rrcf16m B

(@) a;rr6i)£lcf16m (r-r-) <or@TGLrr[El�a;mlGUJoo

For the transfer of whole nuclei, the cells are treated with

(a) DNA ligase

(c) Colchicine

(b) Cytochalasin B

( d) Endonuclease

a=rr�rrr,r6ffl ECG -Q) 2-mm <or�rrLD�JD ��Q)a;GTT : 

(�) P LDJDIDJLD Q (�) Q LDJDQ)J ill R (@) P, Q LDJDQ)J ill R 

· The negative waves in normal ECG are

(a) P and Q (b) QandR (c) P, Q and R

( �) Lrrfr@Sl 6m (@) 6l:>rrLDrrrra; 

( r-r-) 

(d) 

Q LD!I)IDJLD S 

Q and S 

The connection between sickle cell anaemia and malaria was established by 

(a) Darwin (b) Allison . (c) Lamark (d) Weismann

30. �GLD rr6nl1 w rr�(o)J �® �rf1 UJ rr e!F6l:>$MJD rr a; LO rr.w JD 2-uGUJ rr £119;a;u u (b) LD ATP
(Y) 6l:>c93MQ)J 8300 6ITT <of@T 6ITT51l $�a;:

Number of ATP molecules spent to <;::onvert ammonia into a molecule of urea are: 

(a) Four (b) Two.,  . (c) Three (d) One

5648 
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! LI®�- II/PART-11 

®!!51 u t

! 

6T6l06ll�1LJ@)I ID u�m6l!T,'!)� @Slrorr 8,.9, (§ffi@) @51 m uu ml. 
Note : Answer any fifteen questions. 

31. 

32. 

33. 

34. 

35. 

36. 

37. 

38. 

39. 

40. 

B�I QJ 6o) ry-LU IDJ · 
I 

I 

9efine BMI.

I 

j rr � Ga;Grrrr � 6l5T 6o) LD u5l 6l5T QJ 6o) a;a;Gir LU rr 6o) QJ ?

�at are the types of hearing loss ?

@�LU - �6o)O'�O"Q) Ga=LUQ) �00L6o)Q) G'lSlGITffi@)cf:i. 
E�plain Cardio-Pulmonary Resuscitation. 

I 

 eorwGurrGDGru LD!DIDJlD �ry-rrwuoo GQJWJU@ffE�8:i. 
tjifferentiate embolus from Thrombus. 

I 

I 

�JDUO-rr6nf16l5T Cof6o)G1JGLU®JlD (Y)6l5TIDJ u�a;6o)GIT eor@�cf:i. 
t4ention any three functions of Nephron. 

i 

Ji LIT 6"6T ro a; rrri"Q LffiGru U@)� u5l 6ITT e!P 6l5TIDJ � @ffi@)cf:iGTT LU rr 6o) QJ ? 
I I 

What are the three zones of Adrenal Cortex? 
! 

I 

I 

I 

 � JB� Q a=roGUI Gm LI LLD (@J 6o) 0-JB � u rr 8:i ffiJ cf:i6o) GIT ® p51.
tjraw a diagram of spermatozoan with parts. 

l ,i;i • (.) . . ,A· n . .  

@5J.Y1ULJIL��®JD� eor�.rr \o1Uff(§L8:iGIT LUff6o)G)J ? 
0hat are the notable antibiotics ? 

I 

i 6m"lq. u rriq.a;GTTl 6l5T (Y) 6l5TIDJ QPffi$1 LU u � cf:i6o) GIT ® p51 u �@a;.
I 

lention three main functions of antibodies. 

I 

®Go-rrGLDrrGa=rrLD Q�rr®u� GU6o)O-ULffE�6ITT ULLI6ITT8:i6o)GIT <or@�cf:i. 
Write about the uses of karyotyping. 

15x3=45 
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41. �6irr ( LDIJ"UWJ) cf1£ls6o)a= GT6m!Drrru <or6mqr) @r6mrr@ ��s.; �6m cF1£1s6o)a=s.;m llJ[T6o)G)J ?
What is gene therapy? Mention the two types of gene therapy.·

42. (§rflw �r:b!D6016irr �6o)!Ds.;m WfT6o)G)J ?
What are the advantages of solar energy ?

43. 8)fTQ)Jl56o)LcEm16m uruGG)Jw GP5fTLLJ&;6o)GTT GT@§].
List out the different types of diseases of cattle.

44. @ (!g6o)G)J @6ITTffi.l Siffi GT6N!!) fTQ) GT 6m6ITT ?
What are draught breeds ?

45. �LGLrr �6ITT6o)GDa=rfl6irr ®6o)!!)UrT(b)s.;m w fT6o)G)J ?
Mention the disadvantages of auto analyser.

4 6. c� 60T1 Q) � Lffi.l a;1 lLI ro GlT @v a= rrw 6ITT Q u rr ® GIT &;GIT u r:o ,a51 Gr@� s.;. 

Write about chemical composition of honey. 

47. GuGTTiJ:a=rrL Gr6N!!)fT6D GT6N6ITT ?
What are Bouchots?

48. �6irr ®Q:QLDLD @j,a51LJ� G)J6o)IJSi.
Write notes on gene pool.

' ·' ...   '  � 

49. �® M!J)J!)� LD6m@jGTT��r:b® @LLD G�rr6l..j Qa=ti.ill.JLD Gurr� ffiG)J6ITT��-6D  Qs.;rrroGTT
GG)J 6mrrt.q-w s.; rrv 6n"Ofl a; GIT w rr 6o)G)J ?
What are the points to be considered while selecting place for the best fish culture
pond?

50. �GDiJ:l� GJDfTLLl IGT6N!I)rT<oi) 6f6ITT6ITT ?:.
What is Costiasis ? ! �:  \ � I I J 

5648 
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LI®:i1 - III/ PART - III 
I 

,.,(11. 
@jµ;•�'-1 6T 6tn 6lJ � UJ @)J .0 6J@ 851 6ITT" rr 8:i a:;� 8:i @5 LO L 0 LD 851 6lD L w oo a; a:; Q.J LD . 5 6 - GlJ ©] 

I 

851 6ITT" rr 851 !1)@5 8:> L. LITUJ LO rr 8:> 851 6lD LW Gm 8:i a:; G l@J � 0 LD. 7 xS = 3 5 
Notel: Answer any seven questions including question no. 56 which is compulsory.

5 1. a:; rr IT 6lD L 2-IDJ u t.S1 GITT � 6lD LO u t.S1 6lD 6ITT" u LLD GlJ 6lD u-Jt ©] u rr a:; rFiJ a:; 6lD GTT a; @5 JDl a; a:; Q.J LD . 
Draw the diagram of organ of corti and label the parts. 

5 2. @ GITT s-rf01 GITT � rr1TG LO rr 6ml GITT 2-L!I) Q B=W f01 w 6D Q B=W 6D a:; GIT w rr 6lD l@J ? 
I What are the physiological effects of Insulin ? 

5 3 . u rr a; Le_ rR w �La:; rFiJ a:; Gm GITT � w rr rR u t.S1 dJ a:; rr 6ITT" JBl 6lD ro a:; 6lD GTT @51 GlJ rfl .
I Explain the steps that are involved in the preparation of bacteriological media.
I 

I 

5 4. 2-Q) a:; s-ra:; rr � rr u- � 6lD LO u � (WHO) 851 GTT 8:i $l t.y GIT GTT <oT LLI L GiD G JD rr u5'l GITT � .a5l @5 JDl a:; ITT 
w [T6l))(@J ? 
!What are the symptoms of AIDS defined by WHO?
I 

I 

5 5. I� 6D G ro rr s;l u-rr u L LO IDJ u t.S1 GITT Gu rr ©] @51 ® Jt G � rr LD t.S1 u5'16D <oJ dJ u 0 LD @51 6lD GTT Q.J a:; 6l)) GTT 
@5 JDl LJ t.S1 0 a:; . 
Mention the symptoms of allograft rejection in the host. 

I

I 

I 

5 6. 
I 
a:;� Gl.J JB IT c§: S"r�� a:; rf1 u � LO dJ ID] LD G LO Q) rr � 6lD LO u dJ JDl @5 JDl u � <oT@ ©]a:;. 
!write notes on waste water treatment and management.

5 7. 2-w rR w u51 @5 l@J GTT 6lD LD w �%1 GITT u �� s.; GIT w rr 6lD ru ? 
,What are the characteristics of a Bio-reserve ? 

5 8. u L@ u �@ ru GTT rr u t.91 dJ @5 G� 6lD l@J u u@LD B=rT � 6ITT"lliJ 8:;6l)) GTTLJ u dJ JDl GT@@ a:;.
lwrite about the tools and materials necessary for rearing silkworms. 
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59. �GLOrr 6o>a=LGLrrLOLLrr <oTGm/J)rTQ) <orGmGITT? ��Gm LD®��ru (Y)ffi$)liJ��ruLO uti)p51
<oTQg�8.i.

What is Haemocytometer? Write its clinical significance.

60. GruIDJULL @6orffiJ8.i(§ffi$)�LGliJ 8.iQ>UL...j <ofQJ(@JfTIDJ �@a;a;uu@$)/D� ?

Write down the mechanism that prevents interspecific crosses.

61. JBIT �u5lrf1 ruGTTrrut51Gm (§�LLD LO!I)IDJLD Gurr� Sra;rr�rrlJ urr�LJL...j8.iGTT lLlrT6o>ru ?

What are the main environmental and public health concerns about aquaculture?

62. L.06m (@JGfTITLJt.516\) ��LGb @6ITTuGUQ!j838.i Q�rr�Q) !9JLU�6o)� 6lS1GIT83@5ffi.

Give an account on induced breeding in fish culture.

LI@j� .:_IV/PART- IV 

5648 

4x10=40 

Note: Answer any four questions. 
) 

63. @5 L6'51 /D a;a; LO LO!!) ID! LO @5 LQ) ru fTQ) � W ti)61 u ti) p51 @S1 rf1 ru rr a; 6T" @�a:;.

Write about Hernia and Appendicitis in detail.

64. LO�� (Y) 6m � 66> GIT Q a=liJ Q) u@ LO @S1 ��66>� @S1 rf1 ru rr a:; @S1 GIT 83@58.i.

Explain the functioning mechanism of human forebrain in detail.

65. LJQ)Gruw 8.iQ!j��(;O)LB= a=rr�6"0TffiJ8.iGTT u!f)p51 6lS1ru'rf1.

Describe the various contraceptiv� methods.

66. LjGIJrrLGLrrGa=rrrurr !9J�WJu51rf1l1JQ) u!f)p51 �® 8.iL@66>1J <oTQg�8.i.

Write an essay on protozoan mic�obiology.

[ �Q!jLIL...j8.i / Turn over 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


5648 

I 

I 

61. 

[ID 
I 

12 

GJ""at5®1 LC) JD rr6bl ® lD IJL�hu Q) a JD rrti.J a;� GTTLJ u !D p51 <of@� a;. 

Write about any four genetic diseases. 

�!b .m 6b Q JD®a;a; '-9-� LU� i rr a; a; <or® a;a; a (@J �'-9-lLJ JD L(@J 1.q-a; � a;a; � m GlS1 (@J rfl . 

What are the steps to be taken to solve energy crisis ? 

u rrLD L51 a;Gru GLD rrrfl Uj) 6bT (@J rr�a; � a; ar k9 d) 51 Uj) � GITT u L�� L6bl 6lS1 (@J rfl .

Describe the life cycle of Bombyx mori with the help of a diagram.

G)""G�®J LC) �JB� � Q) ffi1 a; ITIJ LO� m,rf1 � u �LI a;�m @51@.J rfl. 

Write the characteristics of any five fresh water ornamental fish. 

-o O o-
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